





Weaned Graded Feeder Calf Sale Thursday, August 3, 2023 at 7:00 pm

Stanly County Livestock Market, Norwood, NC

Terms & Conditions of Sale:

- Calves will be sold in uniform groups according to breed, grade, sex, and weight and may be purchased by the pen or pen split. Buyers may split a pen if the total pen count is over 20 head. Buyer may take any head count of 10 or more from the pen provided not less than ten are left in the pen after the cut.
- 2. Auctioneer will settle all disputed bids.
- 3. All cattle belong to producer until sold; then they immediately become the property of the buyer. Hay and water are available to cattle prior to sale and for 24 hours after the sale at no additional expense. A charge of \$1 per head per day will be added for all cattle not moved from the barn after the first 24 hours following the sale.
- 4. All buyers must establish identification with livestock market operator prior to sale.
- 5. Terms of sale are CASH. Settle with staff in office immediately after the sale.
- 6. Cattle must be settled for before being loaded. Personnel will be available to take care of cattle left in the barn overnight. Feed and water will be furnished during this time.
- 7. Assistance in obtaining transportation can be given if needed.
- 8. Guaranteed open heifers that are found to be bred within 60 days of the sale are eligible for a \$200/head refund. The seller will be charged \$200/head for each bred heifer. Buyers must submit appropriate documentation to the office within 60 days of the sale to receive the credit.
- 9. Any departure from this procedure will be announced from the auction stand. All announcements made from the auction box will take precedence over printed matter herein.

Sale Requirements:

- Steers or heifer calves. No bulls are allowed. Steers must be properly castrated and healed.
- Calves must not have horns either polled or properly dehorned (total or tipped) and healed.
- Producer must submit a completed and signed "Weaned Sale Health Record Form."
- All calves have yellow ear ID tags, no back tags or farm tags.
- Calves are weaned at least 60+ days and two rounds of vaccinations.
 - o Two doses of a Respiratory Modified-Live Viral (MLV) vaccine for IBR-BVD-P13-BRSV
 - At least one dose of Mannheimia Haemolytica (Pasteurella); can be given with MLV vaccine
 - o Two doses of a Clostridial/Blackleg vaccine and at least one dose of Haemophilus Somnus
 - o At least one round of parasite control with a recognized dewormer
 - Implants are optional
 - Vaccinations must be given between 21 days and 4 months prior to the sale. Final vaccines must be given between 21 days and 60 days prior to the sale.

Grading Descriptions:

Frame and Muscle

- M Medium or Large Frame and #1 or #1.5 muscling
- **T** Medium or Large Frame and #2 muscling
- **S** Small Frame and #1 muscling

Breed Characteristics

- A and AH Black/BWF, Majority Angus influenced
- **EX** Blk/BWF, Red/RWF, Ch-X/Gray. Majority continental influence (no pink nose Charolais or mixed colors)
- **SC** Pink-nosed Charolais and spotted Simmentals
- **OX** Crossbred cattle with odd or mixed colors
- **BR** Blk/BWF, Red/RWF, Gray. Brangus or Brahman influenced cattle.
- **H** Hereford

Examples: M5A – M/L Frame, #1/1.5 muscling, 5-weight steer, Angus-based T40EX – M/L Frame, #2 muscling, 4-weight heifer, Continental-based

More sale information at www.norwoodfeedercalf.com

August 3, 2023 • Sale Time −7:00 pm

Watch online at www.norwoodstockyardnc.com

Please call any of the numbers below for your buyer number prior to joining the conference call.

Office: 704-474-7681

Marcus Harward: 704-322-0840 Brooke Harward: 704-322-9770

STANLY COUNTY LIVESTOCK MARKET

Weaned Graded Feeder Calf Sale - August 3, 2023

704-474-7681 www.NorwoodFeederCalf.com

SALE REQUIREMENTS: Weaned 60+ days, double vaccinated (MLV 2x, Pasteureulla 1x, Blackleg 2x, dewormer), no back tags (ear tags only). Heifers guaranteed open - to receive credit for a bred heifer we must receive documentation within 60 days of the sale.

*********STEERS*******

PEN	COLOR	HD	AVG	RANGE	TOTAL WT	PRICE	BUYER
МЗА	BLK/BWF	9	362		3,260	\$275.00	
ТЗА	BLK/BWF	2	360		720	\$269.00	
M4A	BLK/BWF	29	458		13,285	\$276.00	
T4A	BLK/BWF	6	448		2,685	\$268.00	
T4EX		1	485		485	\$250.00	
S4A	BLK/BWF	7	456		3,190	\$225.00	
M5A	BLK/BWF	74	531	500-555	39,315	\$269.00	
М5АН	BLK/BWF	88	577	555-595	50,750	\$270.00	
M5EX		6	567		3,400	\$239.00	
M5BR		1	585		585	\$240.00	
T5A	BLK/BWF	13	551		7,165	\$244.50	
T5EX		5	550		2,750	\$246.00	
T5OX		1	540		540	\$240.00	
S5A	BLK/BWF	4	551		2,205	\$230.00	
M6A	BLK/BWF	164	631	600-660	103,460	\$264.00	
М6АН	BLK/BWF	75	681	660-695	51,070	\$257.00	
M6EX		14	651		9,120	\$248.00	
М6ОХ		1	645		645	\$226.00	
T6A	BLK/BWF	11	640		7,035	\$210.00	
T6EX		1	660		660	\$212.00	
S6A	BLK/BWF	2	605		1,210	\$200.00	
M7A	BLK/BWF	71	715	700-755	50,745	\$251.50	
М7АН	BLK/BWF	58	763	755-795	44,235	\$245.00	
M7EX		5	711		3,555	\$235.00	
M7BR		1	780		780	\$242.00	
T7A	BLK/BWF	5	732		3,660	\$184.00	
S7A	BLK/BWF	2	735		1,470	\$157.00	
M8A	BLK/BWF	31	828		25,665	\$232.50	
M8EX		4	826		3,305	\$223.00	
S8A	BLK/BWF	1	850		850	\$215.00	
S8EX		1	865		865	\$223.00	
M9A	BLK/BWF	7	945		6,615	\$220.00	
						· _	

700

445,280

STANLY COUNTY LIVESTOCK MARKET

Weaned Graded Feeder Calf Sale - August 3, 2023

704-474-7681 www.NorwoodFeederCalf.com

SALE REQUIREMENTS: Weaned 60+ days, double vaccinated (MLV 2x, Pasteureulla 1x, Blackleg 2x, dewormer), no back tags (ear tags only). Heifers guaranteed open - to receive credit for a bred heifer we must receive documentation within 60 days of the sale.

*********HEIFERS*******

PEN	COLOR	HD	AVG	RANGE	TOTAL WT	PRICE	BUYER
M30A	BLK/BWF	5	369		1,845	\$240.00	
T30A	BLK/BWF	3	380		1,140	\$200.00	
S30A	BLK/BWF	1	325		325	\$180.00	
S30EX		1	390		390	\$160.00	
M40A	BLK/BWF	38	464		17,630	\$240.00	
T40A	BLK/BWF	7	456		3,190	\$215.00	
T40EX		3	470		1,410	\$215.00	
S40A	BLK/BWF	6	463		2,775	\$209.00	
S40EX		1	460		460	\$218.00	
M50A	BLK/BWF	53	522		27,660	\$225.00	
M50AH	BLK/BWF	88	572		50,295	\$230.00	
M50EX		9	551		4,960	\$216.00	
M50OX		1	595		595	\$167.00	
T50A	BLK/BWF	12	544		6,530	\$216.00	
T50EX		3	545		1,635	\$170.00	
S50A	BLK/BWF	6	538		3,225	\$158.00	
M60A	BLK/BWF	79	622		49,105	\$229.00	
M60AH	BLK/BWF	48	669		32,110	\$224.00	
M60EX		5	648		3,240	\$223.00	
T60A	BLK/BWF	5	648		3,240	\$159.00	
S60A	BLK/BWF	1	615		615	\$182.00	
M70A	BLK/BWF	35	734		25,685	\$215.50	
M70EX		1	715		715	\$205.00	
T70A		1	710		710	\$137.00	
M80A	BLK/BWF	6	844		5,065	\$180.00	
M90A	BLK/BWF	1	920		920	\$150.00	
		419			245,470		